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6 HE FE 18 0/0 | 0.0% | 9/12 | 75.0% | 0/0 | 0.0% 4 3 7 0
7 |HFH4<0O X
8 =M 23 2 0/1 | 00% | 1/4 | 25.0% | 0/0 | 0.0% 1 5 6
9 L2 B 10 2/4 | 500% | 1/1 |100.0%| 2/2 |100.0%| O 6 6 0
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15 | B[R REE 19 3/9 | 333%| 5/6 | 83.3%| 0/0 | 0.0% 0 3 3 1
16 | /ML K
17 FH = 7 1/2 | 500% | 2/4 | 50.0% | 0/0 | 0.0% 1 2 3 3
18 | SH# BF
19 |IUE |ARER| 10 2/7 | 286% | 2/5 | 400% | 0/0 | 0.0% 1 2 3
20 | AIE KHEE | 12 0/0 | 00% | 5/9 | 556% | 2/2 |100.0%| 2 5 7 0
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22 | BIL = 10 0/0 | 00% | 5/9 | 556% | 0/0 | 0.0% 4 3 7 0
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=1 88 | 8/23 | 34.8% | 30/50 | 60.0% | 4/4 |100.0%| 14 31 45 7
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